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*7 : (i) h{q"afr - €-|ffi t Z,*26 lit '? fu-dg/07.ra-*J. €r's Ha ft€ f€w.fu/tw-#

05/A dga vdFr {A fi t

(ii) {Td-lffi E? a? rh g {t fuLe a €t/ 6€ fd fyr fu z'frffi HfTr 26 r?& aa

,fl-t 5,17 q;t6r6 a6 t

(iii) t?d-ffi fu waT trs,hit flr€ t au{e i6 d1? aB qad/quar er Uowa mT

fiJr flew t

(iv) xd qar Wfr 46 t

(v) tp;nw drd swn (g.sr-C 7rr, E nr? il tre efsw J t

(vi) t-l ,frd e-Eae{ qHTer - d6dT-*n 10-15 HaeiEu, z-z ffie'Eqnarel frd
s6-wp 30-40 Haei fre, S-S ffi €t qaar er frd ss7-wtt 50-60 Hqet tr€ bB

5-5 ffi e,8 W er Wds6-wr 100-120 Haei fu fu€ t

\iil *3 aswa nq a& ,fif{J ffi*d €T qo€ t

grdr-g

grg &t e & aam d ufoeru'ffi t

ffi tb x.r3 ffi f,s f gc ad.ffi-dr RE1 frfu fuq

x,a ffi trs ,1r3 q,a H.ar trs d1-d1 HE-r d-€, i ?

Eda +srs. el ufdErH. ffi |

Ee{Fddufdsq.ffil

)

1.

4.

fia =7

1

Yz+Yz=1,

r/z+Vz*l

1

1

lTurnover0s/A-x
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6.

9.

10.

11"

12.

2
tr.rt'{H 6 +4ifr6 Fs Et a taq dfranr HrE, e ? 

2

fti et 
'2-aqf6-{ 

)"rs€1 FdEt trd ffi d-d},.r-J trs ts } fi-} ar0 rtl q.ggt qs.rr u3(ii) Hfi-f€r fua= EercrB ao ? 
2

€-E n-se dt get e ? fgd ftr-il fet e ?
I+1=2

ffi"o rrs-s e1 dk51 / t-d' F3 REl fog. s feE idg e ? frH ft o- uJz*c REt d1 eId eEflB drg ua ?

2

BEI_E

13. iid fr1 at A$ a ? fEH e 6rs fR+ |

14. E-8fll-dr e. t$ je u foqH fu$ r ffird S qe]€ |

15. usrrecr +r.d tfuiT e. amba Erd ,,a uB Et H. I

16. .-6 fsrfih.i fdfdi}rcT RS ffu ),{3 
==di 

6w-, fiJtR_J d}r,fu_d_d E}o* fui

(2)

LIErd? dt d,e ao ?

fufa{-cadg **a u_e-de d1 U-C uo ?

gEr-+f

6Q, 8e )rr3 10Cl t f$6 \Ftiq u._$gq i.3 urB us I

1

1

,rfe - tO

ufddq u i}u r1$Eu rrs. aa I

,rrE - tS

7+2=3

2+1=3

7+2=3

l1+1+1=3

(i) ffia + frRe-d 6dea __+ fd-a 6dae + frsea
(ii) arrrc ll{EH*J + drEfstffi _+ dalci + u.e?

(iti) t-oirr+r dE-ddr + ierftotrl++ Hu-*e __+ tfr,ro+ Hsla a ug1_fr#h{H 6-ffiB
17. H-5u1 ftu et ,ffi du- e-d*,gE, ,rrfd-J trra. va,g | 2+1_3
18' 'Iuaf6a-c@tre,afra,ue a ? frE 66i-u.f{e-u.o. fiE a? trrdxfusEdFdaAl
05/A-X 1+1+1=3
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(3)

:irdr-H )if4 = 15

519. ffi u.re t ua fu* t

Hr

)rtfdg fr3-d e1 Fdrfu-3r a.S ffi i16t3-d e. fur3, Etrdr 3 ar6-* ffi E}{y,S I 5

E1aBg" t B-d EFfudd sra H t ftn eT q.s-a A vd 3 €dy fdg at$ Hi-e1 a ?

3 +2=5

21. EJa ,{3 E=chfl ffis ffi-d )}reHqi t?rd i{rd eE ufue-ogo ffi uo ? 5

ilr

u-.trt uro $ €rrfrro tu1 EE,-e-d -gE1 3nt ffi-ffi ufussm Eyo{ E-{e J ?

5

"(Hindi Version)

qle : (i) -ilr{} s-.rr-gf&tw t gq yw qr fuqq-+)cnqr-de ari qfi I fdqq-qletiq-.-+ie

05/A aspq ffi r

(ii) o-ar-gr?r+r AA A gvn yv frwr fu d /A fln zged flFt 26 yv t vi flA oq I t r

(iii) var-gfuw t stfr ali rq W/ywT d vtq ao ffi ,rt ypqmctT w Xwi+t fi frqr qr+q r

(iv) azfr sn orM F r

(v) ypt-w qn ,lr,fi (qH-+, q, T oiku) fr fa tsr

(vi) 1-1 eiq qd rdq yn d df,r iflqr 10-15 prqT A, 2-2 &id qrd yefr d sz-r ffHr JQ-(O tr<i

l, 3-3 aid qti yqrt * oar wn 50-60 preT fr ffr 5-5 oi+1 Etd scfr * sfl( ffiretr

100-120 rd f dt

20. 3-fls * &, A ? ?nqi t so EIET Et funiuh{r @ e a aa I

iTr

(vii) on?{sqdryflT mr qk e,ifrt Ht efr qw t

r{FI-i[

1. ute ilq * gw dft,u fr qfuTrEr fuit I

2. Fgil i-d ar B{r qFer + on *ifH,T + ftq t{*o ffil r

0s/A-X

7+4=5

Yz+Vz=l

[Turnover

oim=7

1
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7

Yz+Yz=l

1

I

1

1

qFI-q 
ei*.= l0

HiBqq +1 +t$q fr qdr s-{ Bii rqr qrnr t ? 
Z

y * .lTgRq qIEd HR"ft E ffi ftRqs t ril *nmo eqrq 3t{ (ii) dqiq-+-dT eTt fr ETil qri w +fr iffit6t 
z

11. (f, erpr qr etor B ? qe. fifr EtdT t ? 
2

12.,+ilq qffi +t erfr Eqlt hq ERT q fuqq qq) B ? {H erFr +} *,ea s,{i + kq w m_qq saq,rq E ? 2

8.

9.

10.

(4)

3. qrfr oTR) qq etTr+T q wT Hqn-fl.q e).fi E I

4. ,rtrqrffi{-dT *1 qREM Rrd I

5. Tqq0qlT +t qREM M I

6. drqnq qqr Elt t i
7. ffq-ffiq sqn Fn EIA t ?

qrrt_T

13. qfi er++1 ryr *ft ts i Ur+ errr M r

14. qAfir frr qrq 66 ftqq +r fu* fr q-drqf,r fr q"h qt 
r

15. qrs{ ,fis qRq fl il-qTqfum W 0f{ oFT fud r

16. ft'{rdfud fu*st + Rq {ifrdl .ir qai *. u-gfrr r*qhs Hfi+Iq Rrd :

si.T = 18

1+2=3

2+7=3

l+2=3

1+l+1=3
(i) Ff+ + fuetqnF __+ Fim mqF + fr_qr

(ii) dlq{ .rf-ffir{s + ugsw _+ +Tq-r + .nfl

'(iii) +Rqq qfrrns + WfiFqq q-Sc 
--+ aRqq FSe + \'qfrfrqq mtnrs r

17. qr+q Acq +r eTfrf, B-* q-qr+r $nft ftq-ql ftqrst r

18' efq fir h-se Ek frq sr 6'RUr +Tr B ? {fr *fr +s fuqr qrdr B ? fud +1 u-onror t q,h +t r

0s/A-x

2+7=3

1+l+1=3
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(s)

qFT-g

19. Tiq qw * gr Rrd r

\ilPmt

ilifuf, E-d fr ual.n fr Egd qf* +r R{Grd, iq{r si sdEfH v,rsret r

20. gr$ qqr Ail B ? eTRl * qn U'il +1 qrrcirT sErgrq t * of r

ETPET

t*iI-d + fir rrmqfr-d gu Rie} I i€-6r oo}, {* + (tr q{ flJ fuqr qm B ?

2L. fuqil{ gi-fiqr q (-s+ oqr csM q 3ili qril qRrfu +{-+-{ fr t ?

0irF[

ffi qq +1 qqiq"eT R-d q-{i + Rq erm Stq-+}q fr qRrd{ gai uofr t ?

(English Version)

Note : (i) You must write the subject-code / paper-code 05lA in the box provided on the title
page of your answer-book.

(ii) Make sure that the answer-book contains 26 pages (including title page) and are

properly serialed as sootx as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be

evaluated.

(iv) All questions are compulsory,

(v) Question paper is divided into four parts i.e. Part-A, B, C andDi.

(vi) Questions of l-l mark each should be answered in approximately 10-15 wards,

2-2 marks should be answered in approximately 30-40 words, 3-3 rnarks shouW be

answered in approximately 50-60 words and 5-5 marks should be answered in
approximately I 00- 120 words.

(vii) Draw also neat and labelled diagrams wherever necessary.

ef,m = 15

5

5

l+4=5

3+2=5

5

Marks = 7

1

Yz+Yz-l

ffurnover

Part-A

l. Define main focus of a convex lens.

2. \\-rite symbols for a Electric cell and wire crossing without joining.

05/A-X
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3.

4.

6.

7.

(6)

What do all acids and bases have in common ? y2+Yz=1

Definemalleability. 1

Define autotrophic nutrition. 1

What are fossils ? I

What are biodegradable wastes ? 1

Part-B Marks = 10

6C2, 8C, and 10Q resistances are connected in series. Find total resistance of the circuit. 2

Why is Sodium stored under kerosine ? 2

How do metallic character and valency of elements change in a period moving left to right in

8.

9.

10.

11.

t2.

modern periodic table ?

What are dental caries ? How are they caused ?

2

l+I=2

Why is the depletion of ozone layer a matter of concern for us ? What steps have been taken to

minimise it ? 2

Part-C Marks = 18

L3. What is a wind mill ? Write its advantages. l+2=3

L4. Explain Fleming's left hand rule with the help of labelled diagram. 2+l=3

L5. Write chemical formula of Plaster of Paris (POP) and its advantages also. l+2-3

16. Write balanced chemical equation with the help of chemical symbols and formulas for following

reactions :

(i) Zinc + Silver nitrate -+ Zinc nitrate + Silver

1+1+1=3

(ii) Copper oxide + Hydrogen --> Copper + Water

(iii) Bariumchloride +Aluminiumsulphate -+ Bariumsulphate + Aluminiumchloride

Draw a labelled diagram of internal structure of human heart. 2+l=3

How is short sightedness (Myopia) caused ? How it can be corrected ? Explain with diagram.

1+1+1=3

17.

18.

0s/A-X
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!=l

I

I

I

I

,10

2

2

tin
?

_.,

rto
2

l8

=J

=l

=J

ing

=J

(7)

Part-D Marks = 15

519. Write characteristics of an ideal fuel.

or

With the help of a labelled diagram explain principle, construction and working of an electric

21.

generator (Dynamo).

What is an acid ? Write four properties of acids by giving examples.

or

Write three chemical properties of Ethanol. Why is it used as a fuel ?

What changes occur among boys and girls during adolescence ?

or

What changes can you suggest to make your house eco-friendly ?

5

l+4=5

3+2=5

:
5

5

ide

=l

n.

=J
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